Montageanleitung
Assembly instruction
Instructions de montage
Instrucciones de montaje
Istruzioni per il montaggio
PykoBoACTBO N0 MOHTaxy
Instrukcja montazu
Montazni navod
Navod na montaz
Szerelési utasitas
UHCTpYKUuMA 3a MOHTax
Kurulum Talimatlari
Navodilo za montazo
Montagehandleiding
Asennusohije
Upute o montazi
Instructiuni de montaj
Monteringsveiledning

S 5l elals )
Monteringsvejledning
Instrucées de montagem
Monteringsanvisning

Beschlage / fittings / Ferrures pour meu-
bles / Herrajes / Guarnizioni / Kpennenus /
Okucia / Kovani /Kovanie / Vasalasok /
obkos / Pargalari /okovje / Hang- en
sluitwerk / helat / Oblo-ge / armaturi,
balamale / Beslag / <+ o=~ / Beslag /
Guarnigdes / Beslag

VIBORG 3
Art.-Nr. 4003-003

5,0x35 %ﬁD W
12 x VB4 4 x VB14 1 x VB10
3,5x15 8,0x40
2
52 x SP1 1x VB9
6,3x13 N
\\ ‘i‘& 12 x
16 x SO28 2 xZB1 >7ZB 4
3,0x12 2,7x20 5,020 3,5x20
W % \‘\\\\\\\\\\\\\'
8 x SP7 10 x SR2 4 x VB19 4 x SP3
58105 M4x20 N
P /é!} 18
16 x SO1 12 x SG5 6 x GR42|| ==—" WIN
@ 4 x < >
AK10 4 x WIS 8 x GL7
7,0x50 “\ﬁ) 4,0x35 ‘
© = -
8 x VB3 1x W2 8 x SP11 8 x Ak6 16 x BT1

Sie bendtigen: Potrzebne sa:

You need: Potfebujete:
Vous avez besoin de: Potrebujete:
Necesita: Szlikséges eszkozok:
Le servono : Ha Bac ca Bu HyxHu:
Bam notpebytotcs: Ihtiyaciniz:
Potrebujete: U hebt nodig:
Tarvitset: Trebate:
Aveti nevoie de : Du skal bruge:
Du behgver: Necessita de:
- lias Casa Du behdver:

el

e

o

Tepagh

1/15

Yo,

270218 FMID®/furniture



VIBORG 3

FMD

Teile / article / Pieces / Piezas / Pezzi / vactn / Czesci / Dily / Diely / Alkatrészek / Oetanu / parcalar / dele / Onderdelen / osat / Dijelovi
piese / Deler / <\ x>3\5 / Dele / Pegas / Delar

| I

3x@

1

——\

— | |
. @ 4x@
\E/ 2x
'3x@ @
@ @ 2x® 4x
: : to : : 4x@
3,5x15
A wi 11 “ SP1 V:II81?I(
- 2x
V7
=P
K
P Q_"
Wi 11 \E

je——aC_ ]
\ g
O

WI 11

2/15

FMD®/furniture




VIBORG 3 FMD
B 4=

ZB1

3/15 FMD®/furniture



VIBORG 3

FMD

3,5x15

6 x SP1

M4x20

3 x GR42 ZB1

4/15

FMD®/furniture



VIBORG 3 FMD

—_—_—™m™m8m__ un_m_., n n_mn_m$G$G G e ,_—_—_—_—_—_—_—_—_——,,,_—_—_—_—,——,———™
3,5x15 i M4x20 / é E

D SP1 Zg z 2 x SG5 1 x GR42 ZB1

5/15 FMD®/furniture



VIBORG 3 FMD

% 5,o§5% 5,0x20%
E 4 xVB1 4 x VB4 4 xVB19

6/15 FMD®/furniture



VIBORG 3

FMD

F

4 xVB14

o
w
X
%w

8

x SO28 ii 4 x WIS

7115

FMD®/furniture



VIBORG 3 FMD

5,0x35 il 5,8x10,5
G 8xVvB4|| T 4 x SKU1 16xSO1

8/15 FMD®/furniture



FMD

VIBORG 3

FMD®/furniture

9/15




FMD

2 x GR42

VIBORG 3

4 x SG5

M4x20

8 x SP1

3,5x15

GR 42

FMD®/furniture

10/15




VIBORG 3

FMD®/furniture



VIBORG 3 FMD

2,7x20 3,5x20 6,3x13
K W @\\“\\\\\\\“" 4 x W
10 x SR2 4 x SP3 >ZB 4 8 x SO28

12/15 FMD®/furniture



VIBORG 3 FMD

3,5x15
& o
8 x GL7 18 x SP1
~GL7

13/15 FMD®/furniture



VIBORG 3

14/15 FMD®/furniture



VIBORG 3 FMD

W 8,0x40 :
N = 1xVB10 3 1x VB9 16 x BT1
+/-

842

15/15 FMD®/furniture




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages true
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth 8
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [4000 4000]
  /PageSize [595.000 842.000]
>> setpagedevice


